Module 5 - Radical Equations Progress Exam 2
22. What is the domain of the function below?
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23. Choose the equation of the function graphed below.
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25. Solve the radical equation below. Then, choose the interval(s) that the solution(s) belongs to.
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A. All solutions lead to invalid or complex values in the equation.PCH_E cK |

me [~1,5] ?

C. 21 € [-1,5] and 25 € [3, 4] 2+ - VsW-9 =0

D. z; € [-1,5] and x2 € [-6,—1] J " - \} l Z. (o)
E. z € [-5,-3] o -ox/é X=H IS A
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26. Solve the radical equation below. Then, choose the interval(s) that the solution(s) belongs to.

V2422 +40 — V622 =0
Az €[-1.29,-1.2] and =5 € [-1.8,—0.2]
B. z € [1.19,1.27]

@1 € [1.19,1.27] and 25 € [1.2,1.6]

D. All solutions lead to invalid or complex values in the equation.

E. z € [1.32,1.38]

(2yto = (62
(HECK FOR EXTRAMEODS SOLUT 100!

(oY= (@) [ e 5 2
- X=13 mo Jewd = o

9% + 40 = Gx — 2
ﬁz.emo — T =0

TG +o=0 l&e - (a5 2 o
2440V = 960 o oS
& (=30)(-32)= 90 IS A SQLUT 10~
AAND
(=30 )+H(=32)= -2 _ . )
2Yx> o 32x - 30X +40=0 1. X=1.28 ¢ \/l‘i(l.zs)z+qo - ,I(O'L(l.’LS) =0
R
Ex (3% -4y - “10(3x-4N=0 \i 135 - l‘ 1345 =0
(=Y (8x=I0) =0 0 o0
/ \ -
| 2
Ix-Y=0 &x-10=0 ISA SOLLUTID~
- 8x=10
Ix=Y o
- X=
X %Spring 2019 ? Version B

Xz 1.3 X= |25



